

LUXERIA

lift your spirits

| RED WINE CODE | RED WINE BRAND | PACK SIZE | FORMAT | PRICE PER BOTTLE | PRICE PER CASE | DESCRIPTION |
|---------------|---|-----------|--------|------------------|----------------|--|
| WN13016 | Baron Philippe de Rothschild Saint-Emilion Mouton Cadet Reserve, Bordeaux, France | 6 | 75cl | 3,045.00 | 18,270.00 | A glittering garnet red. The fresh nose offers highly elegant red fruit, especially cherry and redcurrant, before opening up on aromas of mocha and black fruit such as blackberry and bilberry. Soft spice and truffle notes emerge with airing. The smooth attack is full of ripe fruit flavours which gradually evolve from the red to the black fruit already present on the nose. The very elegant tannins are entirely consistent with the character of Saint-Emilion. |
| WN16207 | Gerard Bertrand Reserve Speciale Merlot, IGP Pays d'Oc, France | 6 | 75cl | 3,423.00 | 20,538.00 | Round and powerful on the palate with soft body, elegant structure and perfect balance of ripe, gently integrated tannin and juicy fruit, concentrated and spicy with excellent silky length in the final. |
| WN16208 | Gerard Bertrand Reserve Speciale Cabernet Sauvignon, IGP Pays d'Oc, France | 6 | 75cl | 3,423.00 | 20,538.00 | Powerful, fleshy, round and concentrated with excellent balance of dark fruit, strong, but gently matured tannins and good, lively acidity, very spicy, ripe and full-bodied, in the final long with an aromatic reverberation of dark chocolate, toast and a touch of vanilla |
| WN13238 | Cote des Roses Syrah Grenache, France | 6 | 75cl | 4,200.00 | 31,920.00 | Light and smooth, good balance of fruitiness, acidity and minerality. Nose of raspberry, strawberry and flint. Dry on the palate of green melon and red berries. Well structured. |
| WN61353 | Clarendelle, Bordeaux, France | 6 | 75cl | 5,565.00 | 33,390.00 | Clarendelle Rouge is a wine that exhibits more balance and elegance than power. The wines have a deep garnet-red colour and feature excellent balance. They also have noticeable, but moderate acidity as well as crunchy ripe red fruit flavours, along with hints of spice and liquorice. The tannin is smooth, round and velvety. The delicious aftertaste is rich and concentrated. |
| WN13013 | Baron Philippe de Rothschild Graves Mouton Cadet Reserve Rouge, Bordeaux, France | 6 | 75cl | 6,930.00 | 41,580.00 | An attractive dark purple with a blueish tint. The elegant and complex nose reveals aromas of fresh fruit (acidulated strawberry, redcurrant) and rose, with a slightly mineral cast. Fine, fresh and fruity on the palate, this is a round and elegant wine with forward but refined tannins, ending on a long and mineral finish. |
| WN61344 | Clarendelle, Saint-Emilion, France | 12 | 75cl | 7,245.00 | 86,940.00 | Classic, quality and tradition, that's what I may say about this wine. Nice region, winery, grape blend even despite the fact that 75% is old good merlot. The taste is also classic with notes of cherry and strawberry followed by tobacco leaves and spices. |
| WN13037 | Barton & Guestier Thomas Barton Reserve Bordeaux 2012, France | 6 | 75cl | 8,400.00 | 50,400.00 | The beautiful bouquet displays overtones of honey, tropical fruit, apricot, and orange marmalade. Intense, full-bodied, and simply irresistible on the palate, this wine is perfectly balanced and wonderfully fresh. |
| WN61347 | Chateau Quintus 'Le Saint-Emilion', Saint-Emilion, France | 6 | 75cl | 8,610.00 | 51,660.00 | On the nose features delicate aromas of kirsch cherries, blended with oaky vanilla. On the palate is soft and pleasant, with a good tannic structure, fresh ripe fruit, slightly oaky overtones, hint of cedar and smoke. |
| WN16290 | Chateau Les Religieuses, St Emillion Grand cru Red 2011, France | 6 | 75cl | 9,450.00 | 56,700.00 | Wine has a beautiful shiny, deep red robe. The nose mixes ripe fruit and spices. Nice frank fruity attack, the mouth is structured and harmonious and the tannin silky. Long and delicious finish. |
| WN61323 | Gerard Bertrand Kosmos Red Blend Languedoc-Roussillon France | 6 | 75cl | 11,760.00 | 70,560.00 | This organic wine is a blend of Syrah, Grenache, Mourvèdre, Cabernet Sauvignon, Merlot, Malbec and Marselan. It opens with notes of fruit leather, black cherry and raspberry, with supporting hints of garrigue and violet. The medium weight palate is smooth and plush, boosting a velvety structure. Touches of sweet and wood spice unfold on the close. |
| WN13009 | Gerard Bertrand Cigalus Rouge, IGP Pays d'Oc, France | 6 | 75cl | 13,195.00 | 79,170.00 | Blend of Cabernet Sauvignon, Cabernet Franc, Merlot, Syrah, Grenache, Caladoc, Carignan. First the bouquet shouts concentrated very black fruit. After a little time in the glass, more complexity with grilled spice and toasted oak unfolds. The palate is lush and opulent with velvety tannins, the finish is long with perfect balance. |
| WN61348 | Chateau Quintus 'Le Dragon de Quintus', Saint-Emilion Grand Cru, France | 6 | 75cl | 15,750.00 | 94,500.00 | Blend of Merlot and Cabernet Franc is distilling sweet fruity aromas of blackcurrant and blueberry, as well as floral notes more spring. On the palate is moderately full bodied with round, fine grained tannins, notes of blackberry spiced with clove and white pepper, offering a velvety texture with a pleasant slightly grainy finish |
| WN13010 | Gerard Bertrand Corbieres-Boutenac La Forge, Languedoc-Roussillon, France | 6 | 75cl | 21,437.50 | 128,625.00 | The specifically designated parcel of land for this wine is situated on the unique and limited place named 'La Forge' in appellation Boutenac, classed as a premier cru from Corbieres. Powerful nose of Syrah and Carignan blend opens onto grilled toast, spices and clove. With a nice sweetness, the palate reveals powerful and elegant aromas, which evoke caramelized red fruit. |
| WN13033 | Barton & Guestier Thomas Barton Reserve Medoc, Bordeaux, France | 6 | 75cl | 24,776.01 | 148,656.06 | On the nose full of dark fruits, smoked plums and some vanilla notes. Eye is dark ruby with nice reflexes. On the tongue it is very nice, smooth wine, full of blackberries, sweet cherries, some vanilla and plums. |
| WN61381 | Bastion de l'oratoire Chanson Chassagne-Montrachet France | 6 | 75cl | 32,200.40 | 193,202.42 | The Chassagne-Montrachet from Domaine Chanson, with its pale gold colour is well structured and complex. On the nose it reveals floral and white fruit notes, in addition to a small vanilla note. On the palate, we perceive the purity of the aromas previously mentioned and the experience ends with a long mineral finish. |
| WN16295 | Chateau Olivier Pessac Leognan 2012 Grand Cru Red, France | 12 | 75cl | 42,000.00 | 504,000.00 | It's robe is a beautiful shiny red, the nose is very aromatic with notes of red fruits, liquorice and spices. One can feel the full maturity of Cabernet Sauvignon with silky tannins and the roundness of Merlot. The palate is dense. With a nice fruity length, this wine marks by its balance and structure |
| WN61350 | Chateau Giscours, Margaux, France | 12 | 75cl | 42,630.00 | 511,560.00 | Château Giscours is a winery in the Margaux appellation of the Bordeaux region of France, in the commune of Labarde. The wine produced here was classified as one of fourteen Troisièmes Crus (Third Growths) in the Bordeaux Wine Official Classification of 1855. |

LUXERIA

lift your spirits

| RED WINE CODE | RED WINE BRAND | PACK SIZE | FORMAT | PRICE PER BOTTLE | PRICE PER CASE | DESCRIPTION |
|---------------|---|-----------|--------|------------------|----------------|--|
| WN61351 | Chateau Pape Clement, Pessac-Leognan, France | 12 | 75cl | 26,460.00 | 317,520.00 | With smoky and spicy bouquet, this wine is of an admirable quality and a very characteristic mellowness. It is concentrated, fine and harmonious, presenting an aromatic palette as broad as precise. The depth and the length on the palate is exceptional. |
| WN13051 | Chateau Troplong Mondot, Saint-Emilion Grand Cru, France 2006 | 6 | 75cl | 60,576.25 | 363,457.50 | Very beautiful deep ruby colour. A nose balanced between fruit, freshness and oak, with aromas of red fruits with light toasted notes, then core, almond and a touch of menthol and liquorice characteristic of the terroir. Nice freshness on the palate. A gourmet, long full bodied classic wine. |
| WN13045 | Chateau Beychevelle, Saint-Julien, France | 6 | 75cl | 62,055.00 | 372,330.00 | From its origins and through the different vintages, Chateau Beychevelle reflects all the elegance and finesse of the great terroirs of Saint Julien. Generous, complex and of great aromatic richness, Chateau Beychevelle comes from the best plots of the vineyard. It will reveal itself from ten years and can be kept for several decades depending on the vintage. |
| WN16236 | Gerard Bertrand Minervois La Liviniere 'Clos d'Ora', Languedoc-Roussillon, France | 6 | 75cl | 75,600.00 | 453,600.00 | Latin ora-ae : word prayer, contained between alfa and omega, the symbolic beginning and end of all things. Gerard Bertrand's masterpiece, a sanctuary of Peace, Love and Harmony. Described as 'Premier Grand Cru of Languedoc' Clos d'Ora is cultivated in biodynamics and without any mechanization with the use of the horse and the mule in order to favour the connection between the mineral, the vegetal, the animal and the human. Deep garnet in colour, this wine offers currant and boysenberry fruit flavours edged by white pepper, cured meat and dried herbs. On the palate, its tannins are matuer, subtle and intense. The black fruit aromas are an invitation to a persistent depth. |
| WN61352 | Chateau Cos d'Estournel, Saint-Estephe, France | 6 | 75cl | 78,960.00 | 473,760.00 | Cos d'Estournel is a vineyard and winery in the Saint-Estephe appellation of the Medoc. In the 1855 classification, it was classified as a second growth and remains one of the most prominent and sought after of all Bordeaux wines. Cos d'Estournel is dark, brooding and tannic when young, developing complexity and intensity with time. |
| WN13227 | Chateau Quintus 2012, Saint-Emilion Grand Cru x 75cl, France | 6 | 75cl | 123,480.00 | 740,880.00 | This wine has a tightly-knit tannic texture and a beautiful, long, aromatic aftertaste. It is fruity, spicy and oaky (the oakiness is normal at this early stage). 2012 Quintus starts out quite smooth on the palate, going on to show ripe fruit and a freshness that might be referred to as mineral which is very typical of the terroir. |
| WN61854 | Chateau La Mission Haut Brion, Cru Classe, France 1994 | 12 | 75cl | 140,875.00 | 1,690,500.00 | Chateau La Mission Haut-Brion is an estate in the Pessac-Leognan. Its near-neighbour and sister estate Chateau Haut-Brion was the only estate from the region featured in the 1855 Bordeaux Classification, but La Mission Haut-Brion is often judged and priced as the equal of Haut-Brion and the other first growths. The wine is particularly known for its fruit intensity, rounded, generous texture and silky tannins. |
| WN13046 | Chateau Haut-Brion Cru Classe De Graves Pessac-Leognan' | 6 | 75cl | 150,793.56 | 904,761.36 | Chateau Haut-Brion is the oldest of Bordeaux's five first growths and one of the most famous wines in the world. Located in Pessac-Leognan, south of the city of Bordeaux, the chateau is rather far removed from its counterparts which are found in the Medoc. The Haut-Brion cuvee tends to have more Merlot than the wines from the Medoc, with Cabernet Sauvignon in more of a supporting role. As such, Haut-Brion is more rounded and softer than other left Bank wines. The chateau describes the wine as having an empyreumatic bouquet. |
| WN61856 | Chateau Margaux Premier Grand Cru Classe 2004 | 12 | 75cl | 183,750.00 | 2,205,000.00 | Recognized since the 17th century as one of the greatest wines in the world, Chateau Margaux owes its great qualities to the superb terroir from which it comes. Its 2004 offers great finesse and beautiful purity. We discover a subtle combination of floral, fruity and spicy aromas without one or the other dominating the whole. On the palate has a tannic structure, with emerging sense of balance, precision, purity and freshness characteristic of great vintage. |
| WN61852 | Chateau Haut-Brion, Pessac-Leognan, France 2007 | 12 | 75cl | 231,437.50 | 2,777,250.00 | The hue of 2007 is deep, almost black. Its budding bouquet, warm and gourmand, shows an accomplished balance between the spicy oak and the red strawberry fruits. The mouth, fleshy and opulent, combines the ripe and dense fruit tannins . It grows in power with elegance up to a fresh and peppery finish which suggests good ageing potential of ten years or more. |
| WN13083 | Chateau Haut-Brion, Pessac-Leognan, France 2004 | 12 | 75cl | 251,562.50 | 3,018,750.00 | The dark plum/ruby-hued 2004 Haut Brion exhibits a noble, discreet, smoky bouquet revealing notions of plum liqueur, black currants, sweet cherries, and subtle earth. In addition to its aromatic complexity, this medium-bodied effort reveals classic elegance and delicacy as well as sweet fruit in the mouth and a long finish. |
| WN16180 | Chateau La Mission Haut-Brion, Pessac-Leognan, France 2011 | 6 | 75cl | 260,400.00 | 1,562,400.00 | This wine from the Pessac-Leognan appellation reveals a dark red colour, very deep, with mauve reflections. Its intense and open nose suggests notes of black cherries, blackberries but also spices. On the attack, its mouth is wide and soft, it rises in tannic power and develops towards a creamy mid-palate. In the final, the Chateau Mission Haut Brion 2011 offers a tannic structure which tightens with a very beautiful aromatic persistence. |
| WN61855 | Chateau Haut-Brion, Pessac-Leognan, France 2005 | 12 | 75cl | 422,625.00 | 5,071,500.00 | 2005 vintage presents to the eye a very dense, almost black robe colour. On the nose it exudes an almost breath-taking aromatic intensity. We find there all the complexity that characterizes Chateau Haut Brion with notes of smoke, havana and roasted coffee beans. The fresh fruit is also part of the whole with notably touches of redcurrant and cherry. On the palate the Chateau Haut brion 2005 presents a dense, long and creamy attack. Powerful and fresh, its mouth is characterized by a certain harmony. This wine shows an incredible very long aromatic persistence. |
| WN13065 | Petrus, Pomerol, France 2011 | 6 | 75cl | 1,196,148.75 | 7,176,892.50 | A dense ruby/purple-tinged colour and restrained but intriguing aromas of kirsch, raspberry jam, wood spice, and mulberries are found in this full-bodied Petrus. Some wet earth too, black olives. An undeniable success in 2011, it is rich, layered and pure with light to moderate tannin. Powerful and muscular. |

LUXERIA

Lift your spirits

| RED WINE CODE | RED WINE BRAND | PACK SIZE | FORMAT | PRICE PER BOTTLE | PRICE PER CASE | DESCRIPTION |
|---------------|---|-----------|--------|------------------|----------------|--|
| WN16318 | Marchesi Antinori Peppoli, Chianti DOCG, Italy | 6 | 75cl | 4,200.00 | 25,200.00 | The Peppoli vineyards produce a Chianti Classico that is a blend made from Sangiovese grapes and complementary varieties. Peppoli is recognized and appreciated for the full expression of its fruit. A wine that represents the Chianti Classico territory and its historic grape variety with typical floral and fruity aromas. |
| WN16178 | Marchesi Antinori Santa Cristina Toscana IGT, Tuscany, Italy | 6 | 75cl | 6,720.00 | 40,320.00 | A pretty, clear garnet colour in the glass, this blend of 90 percent Sangiovese with a splash of Merlot offers clean and fresh aromas of black cherries and a hint of raspberries. Juicy black fruit surrounded by clean, food friendly acidity makes for a nicely balanced wine that serves well at the dinner table. |
| WN13041 | Boroli Barolo DOCG, Piedmont, Italy | 6 | 75cl | 5,040.00 | 30,240.00 | A clear ruby red colour, with light orange reflections, a rather intense and classic aroma, with a slight scent of wood and presence of wild berries. A lovely and harmonious taste with scents of liquorice and sweet tannins. |
| WN61848 | Syrosa Maremma Toscana, Italy | 6 | 75cl | 5,670.00 | 34,020.00 | A soft pink with coral hues. On the nose it reflects the Maremma Toscana Terroir with hints of lavender and red berries, as is typical of Syrah grapes, and citrusy mandarin notes. An excellent balance of freshness and liveliness with notes of vanilla, peach and pomegranate. Silky, fresh and with persistent finish, it is the perfect expression of the land it comes from. |
| WN13214 | Fantinel Borgo 'La Roncaia' Friulano Colli Orientali del Friuli, Friuli-Venezia Giulia, Italy | 6 | 75cl | 6,300.00 | 37,800.00 | It has the colour of the sun, the perfume of wild flowers and the hints of almond. A soft well balanced palate. Friulano is an elegant white wine with characteristic regional traits. |
| WN61847 | Sassabrina Toscana, Italy | 6 | 75cl | 6,930.00 | 41,580.00 | Complex bouquet with notes of ripe red fruit accompanied by scents of spices and liquorice. Rich and medium bodied revealing fresh and vibrant mixed berries, savoury notes and milk chocolate that lead to polished tannins and a persistent delicate finish |
| WN16181 | Fantinel Borgo 'La Roncaia' Ramandolo DOCG, Friuli-Venezia Giulia, Italy | 6 | 75cl | 8,925.00 | 53,550.00 | Amber yellow sweet wine. Very intense, wide and complex, with suggestive essences of dried fruit and clear scents of chestnut honey. Well-rounded, strong with the right balance of acidity and residual sugar. Extremely long lasting. |
| WN61845 | Morini Campo Amarone, Italy | 6 | 75cl | 13,650.00 | 81,900.00 | A strong and harmonious wine that is very classy. Amarone is universally recognised as the most prestigious of the wines of Verona, one of Italy's most important reds and today in demand world-wide from connoisseurs of wine. On the nose has broad and nuanced bouquet with scents of wild berries. It is majestic and velvety, with richly fruity-dried grape tones. |
| WN61844 | Rocca Di Montemassi, Italy | 6 | 75cl | 15,750.00 | 94,500.00 | Rocca di Montemassi is an intense, ruby red with vivid garnet reflections. The nose is complex and reveals cherry, plum and currant with notes of violet, eucalyptus, vanilla and sweet tobacco. The palate has a rich presence of elegant, fresh fruit with full and plush tannins, leading to a long and mineral rich finish, showing spicy, toasted notes. |
| WN61843 | Apogeo Dos Palmas, Italy | 6 | 75cl | 17,850.00 | 107,100.00 | Apogeo-apogee-literally refers to the farthest distance between the Earth and the Moon or metaphorically, to the highest point of an endeavour. The ideal name for this wine, which represents the apex of the Zonin Family's venture in the prestigious wine region of Apalta, combining two centuries of Italian winemaking tradition with this unique Chilean terroir to create a blend of perfect harmony. The wine is of dark ruby red, shows aromas of red fruit like cassis mixing with peppery and earthy notes. Great complexity in the bouquet. A structured full bodied wine with firm, structured tannins, balanced acidity and great complexity. |
| WN61842 | Accaiolo Toscana, Italy | 6 | 75cl | 24,150.00 | 144,900.00 | Accaiolo is a sumptuous interpretation of the expressive force of the soils around Castello di Albolo, a meticulous selection of Cabernet Sauvignon grapes confers character and elegance, while a small percentage of Sangiovese from a single vineyard of old wines underpins its most authentic nuances. A distinguished wine, it combines power with grace, and has a soft and supple body, a seductive aroma and long and lingering finish. |
| WN13093 | Newton Vineyard Unfiltered Merlot, Napa Valley, USA | 6 | 75cl | 19,320.00 | 115,920.00 | Producer Newton Vineyard was named by Robert Parker as one of the World's 100 Greatest Wine Estates. It is a spectacular winery with terraced vineyards, on the dramatic slopes of Spring Mountain. The winery is known for naturally fermented, unfiltered wines handcrafted with estate-grown fruit from Spring Mountain and Carneros. Newton's winemaking techniques include natural fermentation and bottling without filtration. These traditions preserve the natural depth of flavour, bouquet and structure that can be found in every Newton Unfiltered Merlot Bottle. Smoky, blueberry aromas are punctuated by whiffs of earth and sweet caramel. The palate is dark, brooding and inky, with cocoa and mocha mingling with ripe fruit flavours. The texture is firm and rich with gravelly tannins and a robust masculine structure. |
| WN16217 | Newton Vineyard The Puzzle Cabernet Sauvignon, Spring Mountain District, USA | 6 | 75cl | 21,157.50 | 126,945.00 | Every year Newton crafts a single paramount wine that represents the finest expression of its Spring Mountain Estate. Much like finding the right pieces to a puzzle, the winemaker hand selects fruit from 112 separate vineyard blocks. To preserve the unique character of each parcel, the fruit remains isolated by vineyard block for natural fermentation and barrel aging. Working patiently and in harmony with nature, Newton produces an artful blend so profound and complex that it is known as The Puzzle. |
| WN13049 | Opus One, Napa Valley, USA | 6 | 75cl | 126,000.00 | 756,000.00 | Opus One is one of the world's most famous wines and is a partnership of two of the most respected figures from Bordeaux and Napa Valley, Baron Philippe de Rothschild of Chateau Mouton Rothschild and Robert Mondavi. It was the first premium California wine sold in Europe and is one of the original 'Cult Cabernets' along with the likes of Harlan Estate and Screaming Eagle. It continues to be one of the most sought-after Cabernet Sauvignon-dominant wines produced in Napa Valley. |
| WN61360 | Ao Yun, Yunnan, China | 6 | 75cl | 98,210.00 | 589,260.00 | Produced in the foothills of the Himalayas, near the legendary city of Shangri-La, Ao Yun is the fruit of an exceptional adventure that pushes the frontiers in winemaking, by creating a wine estate in a previously unexplored terroir. Produced from 314 plots totaling nearly 30 hectares of vineyards, the first Ao Yun vintage is a blend of Cabernet Sauvignon and Cabernet Franc. It is an emblematic of the freshness, superb balance and subtle tannins that characterize the wine produced in this new Himalayan terroir. |

LUXERIA

lift your spirits

| RED WINE CODE | RED WINE BRAND | PACK SIZE | FORMAT | PRICE PER BOTTLE | PRICE PER CASE | DESCRIPTION |
|---------------|---|-----------|--------|------------------|----------------|---|
| WN16233 | Terrazas de los Andes Malbec Mendoza, Argentina | 6 | 75cl | 5,040.00 | 30,240.00 | Terrazas de los Andes grows its grape at the ideal altitude for each variety, allowing them to develop the maximum expression of aromas and flavours. The Grapes of Terrazas Malbec are sourced from specially selected terraces in the top quality districts of Mendoza at 1,067 metres above sea level. This allows wine to develop extremely fruity aromas of black cherries, prunes and raisins with hints of violet standing out, typical of Malbec. On the palate wine is powerful, has great body, structure and volume. Despite its concentration, its ripe and round tannins provide a soft and young character, that anticipate great ageing potential. |
| WN16235 | Terrazas de los Andes Afincado - Single Vineyard Las Compuertas Malbec, Las Compuertas, Argentina | 6 | 75cl | 10,290.00 | 61,740.00 | Terrazas de los Andes Single Vineyard Las Compuertas is known for being complex but still balanced, lively and fresh, due to a well-integrated acidity. Robust, structured, with a lingering finish in the mouth. Nose of amazing combination between intensity and precision. reveals a ripe fruit and sweet character of blackberry, plum and red fruit marmalade. It rounds off with elegant notes of pepper, bay and cinnamon. Stands out for its fine ripe and silky tannins and delivers an elegant and complex mouthfeel. |
| WN13058 | Terrazas de Los Andes 'Cheval des Andes', Mendoza, Argentina 2010 | 6 | 75cl | 27,300.00 | 163,800.00 | Cheval Des andes is the result of the union between Chateau Cheval Blanc, Premier Grand Cru Classe 'A' of Saint Emilion, Bordeaux and Terrazas De Los Andes, a pioneer of cool climate high altitude winemaking in Argentina. Distinguished by its freshness, elegance and exceptional ageing potential. The wine of Cheval des Andes is the Grand Cru of the Andes. It is a unique blend of Malbec grapes and Bordeaux varietals, an ensemble with the exuberance of malbec balanced by the temperance of Cabernet Sauvignon, completed by Petit Verdot. |
| WN13062 | Numanthia, Toro, Spain | 6 | 75cl | 16,187.50 | 97,125.00 | Numanthia is the Estate's signature wine. It is intense and complex, showcases notes of fresh and mature fruit, with light balsamic touches perfectly integrated with spices, notes of tobacco leaves and coffee. Powerful and vigorous on the palate, displaying great structure. Impressive fruit expression accompanied by sweet and well ripened tannins, leading to a velvety mouthfeel with a long and persistent spicy finish. |
| WN13060 | Numanthia 'Termanthia', Toro, Spain | 6 | 75cl | 61,687.50 | 370,125.00 | Termanthia is an iconic wine, the ultimate expression of the Tinta de Toro. Crafted from up to 150 years old vines, it delivers fruit intensity and impressive full body as well as elegance and complexity. Inside each glass of Termanthia there is a century and a handcrafted perfection. It has a concentrated, complex aroma with multiple layers of ripe plums, cherries, violets and black olives. On the palate Termanthia boasts a generous volume, with firm, fine tannins and intense structure. Elegant and balanced with subtle flavours of mocha, tobacco, dry figs and black fruits leading to persistent spicy finish. |
| WN61325 | Robertson Winery Chapel Red, South Africa | 6 | 75cl | 1,207.92 | 7,247.52 | Named after the original Chapel which was used as a wine cellar since 1941. The Robertson Winery's Old Chapel range has become a sought-after taste. This pleasant everyday glassful would make any occasion a joyful one. A fruity soft dry red, with smooth round berry flavours and a herbaceous brambly character. |
| WN61383 | Robertson Winery Chapel Sweet Red, South Africa | 6 | 75cl | 1,207.92 | 7,247.52 | Fruity and soft with smooth, sweet cherry and ripe berry flavours. |
| WN 13219 | Boekenhoutskloof Porcupine Ridge Cabernet Sauvignon | 6 | 75cl | 2,835.00 | 17,010.00 | Porcupine Ridge is a range of delicious, every day wines, it is a firm favourite on tables throughout the world - offering great value and superb drinking. The range is named after the Crested Porcupine, a most unique and fascinating inhabitant of Boekenhoutskloof Farm. The wine has complex nose, it offers an array of classic black and red berry fruit with whiffs of prune, truffle, smoke and graphite. The wine is juicy, smooth and lithe yet with enough structure provided by its fine tannins and a vibrant acidity to balance |
| WN 13220 | Boekenhoutskloof Porcupine Ridge Chenin blanc, Franschhoek Valley, South Africa | 6 | 75cl | 2,835.00 | 17,010.00 | The nose displays a melange of fruit salad with aromas of greengage, fresh lime, yellow apple, green melon-creating complexity. The tropical character follows through onto the palate, with flavours of passion fruit, guava, pineapple and papaya. The midpalate is slightly flinty, yet balanced, with a medium body and vibrant, integrated acidity. Hints of preserved quince, green fig and tarragon lingers on the palate with a nostalgic streak of chalky minerality. |
| WN16226 | Neil Ellis Wines Vineyard Grenache, South Africa | 6 | 75cl | 4,375.00 | 26,250.00 | Bright ruby colour. Vibrant red fruit with spicy peppery aromas which flows on to the palate. The palate has a lovely freshness, great length and fine grippy tannins. The wine is ever evolving in the glass. |
| WN16222 | Rustenberg John X Merriman, Stellenbosch 2012, South Africa | 6 | 75cl | 4,812.50 | 28,875.00 | The wine is named after a former owner of Rustenberg, John Xavier Meriman who bought a farm in 1892 and played a great role in revitalising Rustenberg and promoting the local tourism and agriculture. The wine is a powerful blend of Bordeaux varietals that rewards ageing. In its youth wine expresses cassis, blackcurrant and dark fruits complemented with cigar box and sour cherry, with age its fine grained tannins soften and softer more savoury palate develops revealing wonderful drinkability and tertiary complexity. |
| WN13222 | Boekenhoutskloof The Chocolate Block, Franschhoek Valley, South Africa | 6 | 75cl | 7,139.58 | 42,837.48 | As a producer Boekenhoutskloof is a Syrah specialist, with its premium Boekenhoutskloof range selling out on release each vintage. The Chocolate Block - a Syrah based blend - is probably the most successful new wine offering to come out of South Africa in the modern era. The black fruit and perfume on the nose follow through onto a rich, savoury palate with flavours of dark cherry, red currant, black olives and cured meat. Fine grained tannin are in perfect balance with the acidity. The wine is full bodied with a rich mouthfeel. the finish is chary and long, with hints of maraschino cherry, black olives and sweet tobacco. |

LUXERIA

lift your spirits

| RED WINE CODE | RED WINE BRAND | PACK SIZE | FORMAT | PRICE PER BOTTLE | PRICE PER CASE | DESCRIPTION |
|---------------|--|-----------|--------|------------------|----------------|---|
| WN16227 | Shannon-Downes Family Vineyards Mount Bullet Merlot, Elgin, South Africa | 6 | 75cl | 8,804.25 | 52,825.50 | The exciting Mount Bullet comes from the Merlot vineyard consisting of 5 clones. Considerable emphasis is placed on maximising the different clone expressions and therefore each parcel is vinified and matured separately before final blending. The wine has a fragrance of ripe red fruits such as plums and dark cherries, with earthy complexity and yet still expressing minerality. Maintaining a good acidity lends to outstanding freshness with a well integrated ripe and seductive tannin structure. |
| WN61358 | Warwick Estate Trilogy, Stellenbosch, South Africa | 6 | 75cl | 10,202.50 | 61,215.00 | The Warwick estate trilogy remains one of the classic South African Bordeaux style red wine blends from the Simonsberg area of the Stellenbosch wine growing region. Warwick Estate remains a family run and owned winery. The wine is a blend of Cabernet Sauvignon, Cabernet Franc and Merlot. Very deep opaque colour with a toasty, dark, almost liquorice nose of berries and charred oak, yet with cedar and violet complexity. The palate is equally dark and sweet, with earthy, rich, damson, blackberry and tobacco, but there is definite elegance and poise here too, with savoury acidity lifting this wine beyond fruit bomb category. |
| WN61328 | Warwick Estate Cabernet Franc, Stellenbosch, South Africa | 6 | 75cl | 10,202.50 | 61,215.00 | Warwick was among the first estates to bottle Cabernet Franc as a single varietal in 1988. It has since achieved consistent acclaim and Cabernet Franc is now synonymous with Warwick. The unique terroir at Warwick is very favourable for the varietal, creating wines of elegance and finesse. For those who like your reds with a double with a double helping of flavour and the softness of a velvet slipper. It has a rich explosive core with soft, sweet, blackcurrant fruit, that follows right through to the last sip, backed up with savouriness that is enticing. |
| WN13221 | Kanonkop Paul Sauer, South Africa | 6 | 75cl | 11,340.00 | 68,040.00 | Kanonkop has been described by those in the know as being the South African equivalent of a Premier Cru or First growth. International awards accumulated over more than a decade have gone a long way to substantiate these claims. Complex and layered aromas of cassis, plums and sweet spice are further complimented by notes of tobacco, cedar wood and cigar box on the nose. The palate has a plush, juicy red and black fruit core with seamless, integrated tannins and a fine seem of acidity. Point-point balance between the new oak and fruit results in a wine with grace and elegance. Beautiful savoury notes on the finish. |
| WN13219 | Waterford Kevin Arnold Shiraz, Stellenbosch, South Africa | 6 | 75cl | 11,375.00 | 68,250.00 | Complex red and dark fruit with earth and cold stone leads the aromatics of this Stellenbosch Shiraz, accompanied by plum fruit and leather spice undertones. Natural acidity and classic granular tannins are characteristic to the nature of a Stellenbosch Shiraz. |
| WN61317 | Boekenhoutskloof Cabernet Sauvignon, Franschhoek, South Africa | 6 | 75cl | 14,700.00 | 88,200.00 | Boekenhoutskloof is one of South Africa's most prominent wine producers. It is located in the Franschhoek Valley and is known mostly for its premium red wines. |
| WN13191 | Baron Philippe de Rothschild Escudo Rojo, Maipo Valley, Chile | 6 | 75cl | 4,305.00 | 25,830.00 | Produced in Chile by baron Philippe de Rothschild Maipo Chile, escudo rojo was born in 1997. A perfect marriage of ancestral Bordeaux expertise and an exceptional terroir. It is a fine blend of traditional grape varieties with elegant nose a forest fruit, spice and roasted coffee beans. On the palate is round and full, underpinned by beautifully refined tannins which give length and elegance to the finish. |
| WN16279 | Penfold's Koonuga Hill Shiraz, Australia | 6 | 75cl | 4,094.58 | 24,567.48 | A multi regional blend of Shiraz from across South Australia's premium wine growing regions . Koonunga Hill Shiraz is a plumper style with plush red-berried fruits, generosity of flavour and supple ripe tannins. It has an excellent structure and length, and overtime it gains further complexity. |
| WN61326 | Penfold Bin 707 Cabernet Sauvignon, South Australia | 6 | 75cl | 131,460.00 | 788,759.97 | Bin 707 perfectly reflects the Penfolds 'House Style' through a cabernet sauvignon lens, intensely-flavoured fruit, completion of fermentation and maturation in new oak, expressing a Penfolds understanding of multi-vineyard, multi-region of fruit sourcing. Full bodied and with proven cellaring potential, Bin 707 retains a secure place among the ranks of Australia's finest Cabernets. |
| WN61332 | Penfold Grange Bin 95, Australia | 6 | 75cl | 248,640.00 | 1,491,840.00 | Penfolds is Australia's most famous wine producer, best known for its flagship wine Grange, one of the most acclaimed wines in the world. It is the flagship for Penfolds celebrated multi-vineyard, multi-region blending philosophy and is sourced from Barossa, Mc Laren Vale, Coonawara and base of the Adelaide Hills. Penfolds Grange also carries a 'Bin' designation, referring to its storage location in Penfolds cellars while ageing. This beautifully perfumed and concentrated wine is memorable for its intensely rich fruit, ripe tannins of shiraz and complementary nuances of new, fine-grained American oak. The best vintages possess a lasting quality of more than 50 years. |